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TrigonometryExercise for No.9844

5 8 ) X X
Nol = (tan(A) = g], No2 = (cot(A) = gj, No3 = (sm(A) = gj, No4 = (csc(A) = ;]
- A =(y=sin(0)) 2=(y=2cos(0)) J3=(y=sin(20))
NoS — 4=(y=-6sin(40)) .5=(y=%cos(49)j .6=(y:—4sin(g)+3j
1 o MA
7=(y=-5cos(671H)) .8=(y:—zcos(Tj—4j E

5 i (nx] 3 (nxj 3 5 (x] 3 MA
= =— + = — — | = —_—
y sin| ; y cos 5 h% coS 3 T

X MA MA

Nob6 =
y=3 sin(zj y=-sin(x)+3 p— o

TH TH

=
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TrigonometryExercise for No.9872

2 9 3
Nol = (COS(A) = gj, No2 = (sec(A) = gj, No3 = (sin(A) = %], No4 = (csc(A) = —]
X
[ d=(y=cos(0)) 2=(y=3sin(0)) 3=(y=cos(30))
0 1
Nos = 4=(y=-3sin(50)) .5:(y:—2sin(gD .6:(y=—gsin(39)+5)
7=(y=-6 3nO 8_(_1_(n_6j SJ MA
- =(y=-6¢cos(3m0O)) .8= y——3s1n p + TH |
_§-(£j4_l ) _E(ﬂ]zM_A
g y——2s1n 5 + y——zcos( X) y——zcos 5 + TH
L O (_j MA MA
y=sin(x) + y—2cos 3 TH TH
AT . 1
3 4
y \
2 .
ap N i an

2 N3P/ TPi2 N4PL
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TrigonometryExercise for No.9873

Nol = (sin(A) = %j, No?2 = (sec(A) = g], No3 = (COS(A) = ij, No4 = (cot(4)=1x)

d=(y=cos(0)) 2=(y=6sin(0)) J3=(y=cos(40))
No$ = 4=(y=2cos(50)) .5:(y:§cos(66)) .6:(y:—3 sin(g]—l)
1 no MA
.7:(y:—gcos(TD S=(y=-3cos(2m0O)+3) E

5 (nx} 4 3 (xj 5 MA
—_—— —_— _I_ —_— —_ _— —_— —_—
y—2 oS 5 y——2 oS 5 y=—cos(x)+

MA MA
TH TH

Nob6 = .
y=2sin(2mx) y:2sin(gj+3
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TrigonometryExercise for No.9884

6 5 X 5
Nol = (tan(A) = ;), No2 = (sec(A) = 5), No3 = (cos(A) = ;J, No4 = (cot(A) = ;]

d=(y=cos(0)) 2=(y=-4sin(0)) J3=(y=cos(30))
No = 4=(y=—-6co0s(40)) .5:(y=—écos(36)J .6:(y:—4sin[%j+4j
1 . ) MA
_.7=(y:—zsm(5n9)] .8:(y:—5cos(7]—5] TH |
3 H 3., )
g y= 2cos 3 y= 2s1n( mx) y=—cos(x)+ TH
TX ) MA MA
y:3COS(Tj+3 y=3sin(2x)+4 " T
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TrigonometryExercise for No.9885

Nol = (sin(A) = %j, No2 = (cot(A) = gj, No3 = (cos(A) = %J, No4 = (sec(A) = ﬁ}

7
d=(y=cos(0)) 2=(y=2sin(0)) J3=(y=cos(30))
Nos = 4=(y=5c0s(20)) .5:(y:ésin(36)] .6:(y:—2sin[%j+4j

1 (mO MA
.7:(y:—gcos(6n6)] .8:(y:—551n(7)—5] E
3 (x] ; 1 (nxj 3 in(2 ) MA
y=-_cos| T |- y=_cos| | y=—7sin(2x) —
2 3 2 2 2 TH
Nob6 = MA

=3 sin(2 -2 y=-si +3 —
y sin(2 7 x) y =—sin(x) TH -

=
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=
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TrigonometryExercise for No.9895

4 6 2 X
Nol = (COS(A) = 5), No2 = (cot(A) = ;], No3 = (tan(A) = ;], No4 = (sec(A) = —]

6
A =(y=sin(0)) 2=(y=-5co0s(0)) J=(y=cos(50))
Nos = 4=(y=-6sin(50)) .5=(y=3sin(%D .6=[y:—%cos(66)+2)
n0o 1 . MA
_.7=(y:—6cos(7j] .8:(y:—gsm(3n6)—5j E |
i3)z sl ) 5
g y=3cos(2x) y=2sin 3 -2 y=3sin 5 TH
3. (mx M4 M4
y=—cos(x)—3 y:—2 s1n( 5 j+2 e e

=
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TrigonometryExercise for No.9898

Nol = (cos(A)—4J No2 = (cot(A)—7j No3 = (sm(A)— 4) No4 = (sec(A)=x)

d=(y=cos(0)) 2=(y=-5sin(0)) J3=(y=sin(60))
Nos = 4=(y=5co0s(40)) = [ 1sm(3 6)j .6:(y=3cos(%j—3)

MA
J=(y=-2cos(5m0O)) . ( —cos( ]—5] E
! Iy (1] . MA
g y—zcos(an)+4 y—2sm 5 y=-sin(x)—2 TH
N I . (_j MA - MA
yzzcos(Zx)—Z y=-2sin 5 TH -

N
/I\J w <ﬂ\ [ %) (] -~
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TrigonometryExercise for No.9899

2 7 2
Nol = (sin(A) = gj, No2 = (csc(A) = gj, No3 = (tan(A) = ?j, No4 = (sec(A) = —j
X
[ . I=(y=sin(0)) 2=(y=2cos(0)) 3=(y=sin(60)) |
1 0
Nos = 4=(y=—-4cos(30)) .5:(y:5cos(46)J .6:()/:4005(;}—1}
R .
7= y——3cos( n0)| .8§=|y=-3sin 6 )" TH |
S 5 (_] 5 H MA
s y=sin(x) + y——zcos 3 y——2cos 3 TH
T 1 (nx 5 (x MA MA
y=_sinj—_ |+4 y=—_cos| T |+3 — —
2 2 2 3 TH TH
L [ T
- gy | - N .
™y & \\h,///

w

P _P)i 0 /I?‘iiz Pi 3R 2Pi /5Pw2 3Pi \Tifz 4Pi
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TrigonometryExercise for No.9920

Nol = (cos(A) = %), No2 = (csc(A) = %], No3 = (sin(A) = %j, No4 = (cot(A) = g}

d=(y=cos(0)) 2=(y=-4sin(0)) J3=(y=sin(40))

1 0
Nos = A4=(y=-2cos(50)) .5:(y:gsin(46)J .6=(y=—4cos(g]+3)
gl 3 veoesmenon
I 5 o8| (y sin(6m 0)+4) - _
3 (Tcx] 4 5 5 , MA
= — |+ —— _ _ A
Nog y==5c08 3 y 2cos( nx) y=cos(x) .
00 = l . (ﬁj 3 é (2 MA MA
J’——z sin 5 + y——2 sin(2 x) _TH _TH
7
6
5
- Y /| [
N Hq-“-*--.____‘ ___'_'_'_‘____/ Lo
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TrigonometryExercise for No.10000

Nol = (tan(A) = 2], No2 = (cot(A) = %), No3 = (sin(A) = %), No4 = (csc(A) = %]

[ I=(y=cos(0)) 2=(y=3sin(0)) 3=(y=sin(40)) |
Nos = 4=(y=5sin(30)) .5:(y=ésin(49)) .6=(y:55in(gj—l)
1 (=6 . MA
_.7:(y:—gsm(7jj S=(y=-3sin(51t0)-5) E
3si (ﬁj 2 2 (ﬁj 3 cos(2 ; M
s y=3sin 5 y=-2sin y) r= cos(2mx)+ TH
X MA MA
y:2cos(7j y=-cos(x)—2 " T
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TrigonometryExercise for No.10017

st =3 o=t vy s st =5
Nol =|cos(A)=_|, No2=|csc(A)=—|, No3 =|sin(4d)=7_|, No4=|sec(4)=
7 4 7 3
i A =(y=sin(0)) 2=(y=5co0s(0)) J=(y=sin(30))
Nos = 4=(y=06sin(40)) .5:(y=—4cos(%jj .6=[y:—§sin(66)—5j
0 1 MA
_.7=(y:—6cos( 3 D .8:( :—4005(6n6)+1] TH |
b2t Lo ) o2 2
s y= 2cos 2 y—2cos 3 y=3sin 5 + TH
) ) MA MA
y:—Esm(Zx) y=-sin(x) -3 E E

/
e N
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>
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TrigonometryExercise for No.10025

Nol = (sin(A) = %j, No2 = (cot(A) = %), No3 = (cos(A) = %J, No4 = (sec(A) = %J

1 =(y=sin(0)) 2=(y=6co0s(0)) 3=(y=cos(40))
NoS = A4=(y=065sin(30)) .5:(y:écos(29)J .6=(y=5005(g)+5j
L n0 MA
.7:(y=—zcos(2n6)j .8:(y:—5005(7j—1j E
g _ (ﬂ] _ (Mj MA
s y=-sin(x)+3 y=-2cos 3 y=-2cos 3 -4 oo
o MA MA

=3sin(2x)+2 =3 sin(2
y=3sin(2x) y=3sin(2x) TH TH

=
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TrigonometryExercise for No.10057

Nol = (cos(A)—3J No2 = (cot(A) 3j No3 = (sm(A)— J Nod4 = (csc(A):ij

A =(y=sin(0)) 2=(y=-6¢c0s(0)) J=(y=sin(20))
Nos = 4=(y=6sin(20)) S= (y=—4cos(%)j .6:(y=§cos(46)+lj

1 MA
7= (y——S sm( D ( :—gcos(Zne)—SJ E

3 cos(2 4 _é-(MJ _3 (ﬁjM_A

s y=3cos(2mx)+ y—2sm 5 y——zcos 3 e

T . 1 MA MA

y=-sin(x)+1 y:—Ecos(Zx)—3 E E

v
A 7\ o N\ ~

[
.
\
L
/
A
e
N\
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TrigonometryExercise for No.10061

Nol = (tan(A) = g], No2 = (cot(A) = %), No3 = (sin(A) = %), No4 = (csc(A) = 3]
- d=(y=cos(0)) 2=(y=-6sin(0)) J3=(y=sin(20))
NoS — 4=(y=2sin(30)) .5=(y:icos(3 9)) .6:()/:—3005(%)—2)

1 (=m0 MA
_.7:(y:—2005(6n9)) 8= y:—2cos( 3 j—lj TH
Oy
s y=-3cos 3 y=—sin(x) + y—2sm 3 TH
5 X 1 MA MA
y:—cos(—]+2 y=_sin(2ntx)+4 — —
2 3 2 TH TH

7
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TrigonometryExercise for No.10071

Nol = (tan(A) = %j, No2 = (sec(A) = g], No3 = (sin(A) = %j, No4 = (csc(A) = %)

A== cos(8)) 2=(y=-3sin(0)) 3= (y=sin(50))
1 0

Nos—| #=(r="0s(50) '5:(y255in(3 e)j .6=(y=—3 sin(g)+4)
o) e
= Y=, 008 ¢ S=(y=-6smn(3n0)+2) o
3 g (Mj 4 3 g (ij ) ) . M_A
No = Y=msim o T A y=asim G, ) y=sin(x) + e
T reany A M
y=5008(2x)  y=-2cos(2mx) — -

y

w

—
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TrigonometryExercise for No.10088

3 5 X X
Nol = (tan(A) = Zj’ No2 = (csc(A) = gj, No3 = (cos(A) = ;J, No4 = (cot(A) = ;]

d=(y=cos(0)) 2=(y=5sin(0)) 3=(y=cos(30))
0 1
NoS = A4=(y=-5co0s(30)) .5=(y:—4cos(5D .6:(y:—zsin(59)+lj
7 5sin(4m 0O 8 ( 1 ,(nej 4] A
I (v sin(4mH)) y 6sm 3 TH |
g y=—sin(x) — y—2cos( nx)—2 y=3sin 5 TH
0= 5 X [ x MA MA
y=—_cos| | y=-2sin_ |+3 — —
2 3 3 TH TH
7
6
5
y
§ 7 ™
/ | \ \
PP /I?{iiz Pi 3R 2Pi /5Pw2 3Pi \Tifz Pj /
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TrigonometryExercise for No.10385

4 7 5 6
Nol = (COS(A) = ;j, No2 = (cot(A) = g], No3 = (tan(A) = ;], No4 = (sec(A) = ;]

A =(y=sin(0)) 2=(y=6co0s(0)) J=(y=sin(50))
. 1 5
Nos = 4=(y=3sin(20)) .5—(y——3cos(66)J 0= y——5005(2)+4j
sl spduseons)
7= y=-6cos 1 8= y——Ssm( no)+ TH |
Iy (1) _5 (ﬂj _ MA
s y—231n 3 y——2 sin 3 y =cos(x) TH
L D (_j , M 4
y=3cos(2x)—-4 y=-2cos 5 ) TH TH
y
//\ ~ ,/7_ ~ /\
/INL TN \
. 2 Pi/2. Ri i/2 Pi aPi/ 3Pi ir2 4Pi
LT N e AN >y
\oad—/ \
\ \ /
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TrigonometryExercise for No.10387

Nol = (tan(A) = gj, No2 = (csc(A) = %), No3 = (cos(A) = %J, No4 = (cot(A) = 3]

d=(y=cos(0)) 2=(y=-5sin(0)) 3=(y=sin(20))
NoS = 4=(y=-5co0s(40)) .52(}/23005[%}) .6:(y:—§sin(36)+5j
1 (mO MA
_.7:(y:—zcos(5n6)] .8:(y=—4sm(7)+1} E |
2 2 3 sin(2 3 (Mj 3 A
g y—231n( x) y=-3sin(2mwx) y=3cos 5 + TH
I (x MA MA
y :5 s1n(;j -4 y=-—cos(x)-2 E E
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Nol = (cos(A) = %j, No2 = (cot(A) = %), No3 = (tan(A) = %), No4 = (csc(A)=x)

d=(y=cos(0)) 2=(y=2sin(0)) J3=(y=sin(50)) ]
Nos = 4=(y=-2cos(60)) .5=(y:—§sin(36)) .6:(y:—3sin(g]—5j
| 1 (n0 MA
_.7:(y:—5 sin(3m0)) .8:( == sm( 5 j+2] TH
; (_j PRI é.(z] MA
s y =3 cos 3 y—2cos( nXx) y= 2sm 5 TH
. (X MA MA
y=sin(x)—1 y=-3 s1n(2j—3 p—— p——
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TrigonometryExercise for No.10914
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TrigonometryExercise for No.10945

2 7 4 2
Nol = (sin(A) = 5), No2 = (sec(A) = Ej’ No3 = (cos(A) = ;], No4 = (csc(A) = ;]

1 =(y=cos(0)) 2=(y=3sin(0)) 3=(y=cos(50))
Nos | 4= (r="2sin(50)) -5=(y=—isin(56)j .6=(y=6sin(%+4j
L NEL MA
.7:(y:—zsm(5n6)j .8:(y:—4sm(Tj—5j E
! 2 3 g (Mj 2 y=si 1 MA
o y——zcos( X)+ y =7 sin| +2 y=sin(x) - -
- . KMJ 1 (xj MA MA
y=-=3sin —/— y=—_cos| - Ma
3 2 2 TH TH
. 7N N
NN o N
\\‘ 3 Ve / -+ -
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S P e/ 0 Pif2 Pi  \3Pi bi - 5PiI2 ./ 3Pi N_7Pi2 \ 4Pi
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TrigonometryExercise for No.10954

Nol = (tan(A) = %), No2 = (cot(A) = %j, No3 = (cos(A) = ?], No4 = (sec(A) = %]

1 =(y=cos(9)) 2=(y=6sin(0)) 3=(y=sin(20))
1 0
Nos | A=(r=6sin(50) .5=(y=gcos(49) 6= y:‘SSi“[?j”j
7—(—1 sej 8—(—3'(ﬂ] 4] e
7= y= 2cos( nh)| .8=|y=-3sin 5 TH J
E RN -y
o y=-3cos 3 y——2sm 5 + y—251n( TX) TH
00 = ' 5 (EJ ) Aéi Aéi
y = sin(x) y=2c08 ) TH TH
7
6
5]
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T e
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TrigonometryExercise for No.10966

2 3 ) X 5
Nol = (cos(A) = 5), No2 = (cot(A) = gj, No3 = (sm(A) = g}, No4 = (sec(A) = ;J

Nob =

d=(y=cos(0))
4=(y=-6c¢co0s(30))

1 5
y=—cos(x)+3 y=—55in(—J+3 y=5cos(2x)

Nob6 =

y:—g sin(2x)+4

2=(y=2sin(0))

s<fo=ssil3)
S =|y=—4sin 5

1 (mO
.7=(y:—§sm(4n9)] .8:(y:—3sm(T]—2j

T X
3

1
yzgsin(Z TX)

J3=(y=cos(20))

b=y
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MA

TH
MA

TH
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;sin(6 6)—4)
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TrigonometryExercise for No.11154

8 6 6
Nol = (tan(A) = gj, No2 = (cot(A) = gj, No3 = (cos(A) = %], No4 = (sec(A) = —]
X
[ A =(y=sin(0)) 2=(y=5co0s(0)) 3=(y=cos(60))
0 1
Nos = 4=(y=4cos(50)) .5:(y=2cos(§jj .6=(y=200s(39)—3)
sk ) sedomsnos)
7= y=-2cos p 8= y——4cos( no)- TH |
§-(ﬂj4 L o200 44 E-(ﬁjM_A
g y——2sm 3 ) y——2cos( x)+ y—231n 5 TH
o0 , X 5 (ﬂj MA MA
y=sin(x) + y—zcos 3 TH TH
TN ' ydah i
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TrigonometryExercise for No.11191

7 9 X X
Nol = (tan(A) = gj, No2 = (csc(A) = Zj’ No3 = (cos(A) = Ej’ No4 = (cot(A) = 7]

d=(y=cos(0)) 2=(y=4sin(0)) J3=(y=cos(30))
No = 4=(y=3sin(40)) .5:(y=—6cos(gjj .6:(y:—ésin(56)+1j
(mO 1 MA
_.7:(y:—3sm(TD .8:(y:—gcos(3n6)+5] E |
1.@ , 3L, M
s y—231n 5 y=—cos(x) + y= 2s1n( x)+ TH
S (mx 3 X MA MA
yzgsm(Tj y:_ECOS(Tj_4 E E
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TrigonometryExercise for No.11309

. 7 7 X 4
Nol = (sm(A) = 5), No2 = (sec(A) = Zj’ No3 = (tan(A) = 7}, No4 = (cot(A) = ;]

v :(y=sin(9)) 2:(y:3 COS(O)) '3:()):005(3 e))
! 0
Nos = .4:(y:—6 COS(S e)) .5:(};:5Sin(2 9)) _6:(};:_3 Sln(g)'i‘?))
7=(y=-3cos(570 g_(_l (TC_GJzJ M4
L =(y=-3cos(5n0)) .§=|y= S cos| -
l (ﬂj 3 (1) 3 5 M_A
Nog — V=7, 008, y=-osm +3 y=cos(x)— e
06 = 3. 5 5 5 (ﬁj MA MA
€ TH TH
7
6 //// \\\\
5
y
//F-Z N““-\
T ‘\\\\

—
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TrigonometryExercise for No.12483

X

Nol = (cos(A) = %j, No?2 = (sec(A) = gj, No3 = (tan(A) =3 ], No4 = (cot(4)=x)

A =(y=cos(0))
4=(y=5sin(60))

2=(y=6sin(0))

1
5=|yp=—sin(50
Nos = y=7,sin(36)

Nob6 =
y= 2sm 5 y—2cos 3

| no
.7=(y:—gsm(4n9)j .8:(y:—5 cos(?]+4j

5 X
y=sin(x)+2 y=-2sin(2x) y=5005(5}+4

3=(y=sin(50))

el

MA

TH
MA

TH
MA MA

TH TH
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TrigonometryExercise for No.12557

5 9 ) X 2
Nol = (tan(A) = 5], No2 = (sec(A) = ;j, No3 = (sm(A) = g}, No4 = (cot(A) = ;]

A =(y=sin(0)) 2=(y=2cos(0)) J3=(y=sin(30))
1 0
NoS = 4=(y=3cos(60)) .5=(y=—§sin(26)j .6=(y:6sin(zj—2)
7_(_1(71_6}] §=(y=-5sin(2mwH)+2 A
7= y——4sm 5 S=(y=-5sin(210)+2) TH |
3 (ﬂj o 3 (1} , MA
s y——2cos 3 y=sin(x)—2 y=3sin 5 + TH
o= 3 X [ x MA MA
y=—_cos| —_|+4 y=2sin| — —
2 3 2 TH TH
7
6
i T !
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¢
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TrigonometryExercise for No.12637

5 9 _ x 4
Nol = (tan(A) = gj, No2 = (sec(A) = g], No3 = (sm(A) = 7}, No4 = (csc(A) = ;j

A =(y=sin(0)) 2=(y=—-4cos(0)) J3=(y=cos(40))
4=(y=6¢c0s(50)) .5:(y=—6cos(gn .6:(y:lsin(26)—lj

No5 = 3 3
7= y= 4cos 5 S=(y=—-4cos(6m10O)—-3) TH
NP 5 H 3 sin(2 a0 MA
g y=—sin(x) — y——2 cos 5 y=3sin(2ntx) - TH
0= Cx T X MA MA
y=2sin| _ |—-4 y=-2cos| — —
3 2 TH TH
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TrigonometryExercise for No.12689

2 3 ) 6 X
Nol = (cos(A) = 5), No2 = (cot(A) = gj, No3 = (sm(A) = ;J, No4 = (CSC(A) = —J

6
A =(y=cos(0)) 2=(y=-6sin(0)) J3=(y=sin(60))
Nos = 4=(y=-2co0s(60)) .5=(y:—3cos(%j) .6:(y:icos(59)—lj

. 1. (x0 MA
_.7:(y=—2 sin(371H)) .8:(y:—3 sm( 5 ]+2) TH
ssil3] oezeof )5 el
s y=-3sin ,) v= cos 3 y=-2sin 5 TH
1o(x M4 MA
y=cos(x)—-2 y= cos(2j+4 - TH

P P2 0 Pi Pi 3PRif2 Pi SPul 3Pi 7Pif2 4P
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TrigonometryExercise for No.13349

Nol = (tan(A) = %), No2 = (sec(A) = %), No3 = (cos(A) = %J, No4 = (cot(A) = 3]

A =(y=sin(0)) 2=(y=5co0s(0)) J=(y=sin(30))
Nos = 4=(y=-6sin(40)) .5:(y:§sin(46)j .6:(y:—2sin(%j+1j
no 1 MA
_.7=(y:—5005(?j] .8:(y:—gcos(3n6)—3] E |
2.(Mj4 S s 1.(MJM_A
e y=-2sin 3 y—2cos( X) y—2s1n 5 TH
. 5 X MA MA
y=-sin(x)+3 y= —5 cos(;j +4 E E

X [Page = 0030] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKKKKKXKXXXXKXKKXKKK



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKKXKXXKXME/1-6700302-00031XX
TrigonometryExercise for No.13519

5 5 7 x
Nol = (tan(A)— jNOZ (cot(A) jNoS (cos(A)— ]No4 (sec(A)zzj

A =(y=sin(0)) 2=(y=6co0s(0)) J3=(y=cos(20))

psafg)) o-lr=deao)
=|y=-5sin p 6= y=—3cos(46)—1

Nos — A4=(y=-2sin(60)) S
r=fmssl ) selpemnon)
=— :—— + —
] v sin cos( n0) TH |
2eofS)er vfady) e
s y=-2cos 5 + y—zcos 5 y=sin(x) + TH
00 = ' (nxj 3 ) (ﬂ:xj MA MA
y=-2sin| —_— y=_7sin|—_|-2 — —
2 2 2 TH TH
7
6
5
y L~ \\\\
%\ v
P Pir2 0 Pi Ri BP@Z 2Pi SPul 3Pi 7Pif2 4Pi
Vi) A\ N : ~
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TrigonometryExercise for No.14276

8 7
Nol = (tan(A) _ ;], No2 = (cot(A) _ EJ’ No3 = (sin(A) _ ij Nod = (sec(A) _ %J
[ 1=(y=sin(0)) 2=(y=-5co0s(0)) 3=(y=cos(40)) |
1 0
Nos = 4=(y=—4sin(50)) .5:(y=gsin(26)) .6:()/:4005[;}—5}
o] b))
7= y——3sm( n0)| .8§=|y=-4cos 5 + TH |
_ 3o ) (£j4_3-(ﬂjM_A
s y——2cos( X) y =2 cos 5 ) y=-3sin 3 e
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TrigonometryExercise for No.14380

Nol = (COS(A)—:;] No2 = (sec(A) 9j No3 = (tan(A)— j No4 = (csc(A):gj

d=(y=cos(0)) 2=(y=2sin(0)) J3=(y=cos(60))
0 1
Nos = 4=(y=6c0s(20)) S = (y 2sm(5D .6:(y=—2sin(59)+3)
SV SO E.) A R
- =(y=-3sin(2mw0O)) . =—_Co0S TH |
5 (ﬂj S ; (ﬁj , M
g y——2cos 3 y=sin(x) — y=-3cos 3 + TH
o= 1 (x) 1 '(nx] MA MA
y=_sin| y=-—_sin| —/_ [+3 ——— ——
2 3 2 3 TH TH
7
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TrigonometryExercise for No.14393

Nol = (sin(A) = gj, No2 = (csc(A) = %), No3 = (cos(A) = %), No4 = (sec(A) = %)

d=(y=cos(0)) 2=(y=4sin(0)) J3=(y=cos(20))
Nos = 4=(y=-3co0s(20)) .5=(y=6cos(%)j .6=(y=isin(59)—3j
1 no . MA
_.7:()/:—;005(?]} S=(y=—-6sin(5n0O)+5) E |
[N . 3 (_] , M
s y—2cos( X) y =—sin(x) y—2cos 3 TH
. 5 MA M
y=3sin(2mx) y:—2005(2x)+2 TH e
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TrigonometryExercise for No.14417

) 5 5 X X
Nol = (sm(A) = ;j, No2 = (cot(A) = gj, No3 = (cos(A) = EJ, No4 = (csc(A) = EJ

Noj =

[ I=(y=sin(0)) 2=(y=-6cos(0)) 3=(y=cos(20)) |

A4=(y=4cos(50)) .5:()/:—3 sin(gn .6:(y:—isin(2 9)—5]

1 o MA

_.7:( :—ECOS(TD S=(y=—-4cos(5nt0)—4) E
g y=-3cos 3 y =—cos(x) y—2sm 5 TH
o x MA MA
y=3 s1n(;j y=-3cos(2mx) E E

—
—
—
=
B
—
—
——
—
—

L

—_—

e
—

—_—

___D_________—___-)
_— <
w f-N i (=] -

N —_—
a o =N

p

-

|
R
;f___

g\x’_______
:ﬁ—_r————-——_;

S

1

X [Page =

0035]

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:0.0:0:9.0:0:9.0:0:9.0:9:9.0:9:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:¢



ID:0:0:0:0:0:0:0:00:0:0:0:0.0.0.000 00000000000 00000000 0000000000 000 000000000000000090000000
L >



